

Wexham School Post 16 Catch-up Funding Plan

Wexham School's aims to further develop the knowledge and skills, and to bridge any learning gaps due to the Covid-19 pandemic, of our post-16 students.

In addition to their timetabled subject sessions there will be small group tuition sessions, which will be conducted by our current staff or external credible sources. The small group tuition objective is to maximise exam achievement.

It is our intention at Wexham School to do the following:

- Small Maths and English tuition groups for students that have achieved a grade 4 in English and Maths at GCSE
- Provide subject support through designated coaching and smaller group tuition
- A Level revision support
- Academic skills support and development

During the national lockdown we intend to do the above remotely and ensure students have access to the wealth of resources and support available online.

Wexham School Post 16 Catch-up Funding Plan

Activity	Setting up	Year group	No of Students per session	No of Groups per subject	Length of Session	No of Sessions	Cost per Session	Total Cost
One 2 Once Catch up	Selected students who meet the criteria will have an initial meeting with their LOY. Each student will be matched with a subject specialist tutor. Tutors will set independent learning work and focus on exam papers with students. These sessions can happen in school or during a lock down. Sessions held in school: Sessions will be held by a member of staff. Sessions held during the lockdown: All sessions will carry on during the lockdown because Wexham has the facility for remote learning. Teachers will arrange a suitable time with student and let the LOY/LOD know when the session will be. Lessons will be recorded to allow the students to be able to go back to it for reference.	Y12 & Y13	10	N/A	1 hour	1	£300.00	£3,000.00
High quality work experience	As students were not able to find part time jobs during the last year, Wexham is in a position to liaise with InvestIN www.investin.org too create the 'ultimate work experience' for students post 16 students, in the subject or career path they wish to follow. The purpose is to give them the knowledge, experience, advantage and network they need to have a head-start in their dream career. The programmes contain a blend of interactive simulations, company visits, seminars, networking sessions and career coaching advice, all carefully curated and delivered by experts from those industries. InvestIN offer experiences in: Architecture, Art, Computer Science,	Y13	7	N/A	2 Days	1	£295.00	£2,065.00

	Dentistry, Engineering, Entrepreneurship, Fashion Design, Filmmaking, International Development, Investment Banking, Journalism, Law, Management Consultancy, Marketing, Medicine, Music, Politics, Psychology, Publishing & Veterinary Science.							
	In person programme: Eligible students will be selected and start this programme in March. They are held on the weekends in London and are also Covid secure because students are put in a bubble. Live online programme: This is done during the lock down during the weekends, selected students will have log in details and attend these sessions online.							
Mixed learning sessions	This session will be similar to the One 2 One sessions, but it will have a mix of Y12 and Y13 students who meet the criteria and have learning gaps due to the pandemic. Y13 students will join sessions to catch up on knowledge from Y12 and Y12 students will catch up on topics that have been missed. Blended learning sessions will be for all subjects.	Y12 & Y13	5	2	1 hour	10	£30.00	£600.00
Extra GCSE Maths Retake extra tuition	Catch up sessions outside of subject/lunch/break time for students that are retaking their GCSE maths. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Level 2 Y12	4	2	1 hour	20	£30.00	£600.00
Extra GCSE English Retake extra tuition	Catch up sessions outside of subject/lunch/break time for students that are retaking their GCSE English. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Level 2 Y12	4	3	1 hour	30	£30.00	£900.00

Sociology - Catch- up Year 13	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y13	4	1	1 hour	22	£30.00	£660.00
Business - Catch- up Year 12 & Year 13	lockdown. These sessions will run in the morning before school or		5	4	1 hour	44	£30.00	£1,320.00
Geography - Catch-up Year 12 & Year 13	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y13	4	1	1 hour	22	£30.00	£660.00
History - Catch-up Year 12 & Year 13	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y13	3	1	1 hour	20	£30.00	£600.00
RE - Catch-up Year 12 & Year 13	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y13	2	1	1 hour	19	£30.00	£570.00

Psychology - Catch-up Year 12 & Year 13	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y13	5	1	1 hour	19	£30.00	£570.00
Chemistry Catch- up Year 12 Only	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y12	4	1	1 hour	11	£30	£330.00
English Literature Catch-up Year 12 Only	Catch up sessions outside of subject/lunch/break time for students that meet the criteria for the tuition funding and are also finding the subject difficult due to learning gaps caused by the lockdown. These sessions will run in the morning before school or in the evening after school. Sessions will be run by existing staff or a private tutor hired by the school.	Y12	4	2	1 hour	10	£30	£600.00

Total Value of Post 16 Catch-up Fund: £12,450

Total Cost of Post 16 Catch-up Plan: £12, 475